BYJU'S
WSS L3y T Y e : 18 ) [ F9 qf%a gef %t g : 11
Total No. of Questions : 18 ] [ Total No. of Printed Pages : 11
J-201200-A
fawx : fagm=
Subject : Science
99 : 390e | [ qufe : 75
Time : 3 hours ] [ Maximum Marks : 75
e : it we g ®if)
Note : Attempt all questions.
Y wEE 1 TGP I R ) T g (H), g (F) W
e () M ¥ I T AF @S F 5 7R § TN W AF W 1 37
Frifea 1
gfe afia faerfi = & w9 foe T e &1 ot oo i
Instruction Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.
Visually impaired students follow the instructions as given
with the questions.
-1 [1x5=5]
() e it wftfeafrm da @ .
(3 & (9) doe
(§) W& | (3) ¥
Human-made ecosystem is
(a) Forest (6) Pond
(¢) Aquarium (d) Lake
SSA P.T.O.
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(2]
(1) wph & avor W i few
(31 dwrk X
(7 fid
(@) W@y
(2) Tda9A

The theory of natural selection was given by :
(@) Lamarck

 (b) Darwin
) Weismann
(d) de Vries

) wmmﬁt:

() oA d
(%) w3
() RAFw
(@ e
Soap produces lather with :
(&) soft water
@®) hard water

. ) river water

(@) Al of the abowe
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Y-

[3]

(iv) SRS F TeAg faera sefig A ¥

(87) Na,O
() MgO
(7)) Co,
(3) H,0

Aqueous solution of oxides is acidic :

(@) Na,0
(b) MgO
© Co,
(d H,0
(v) mwﬁzemﬁwﬁmmmmﬁmﬁwww
(37) 26 () 36 |
(®) 40 (%) 0
Turning the plane mirror by 20 angl, the reflected ray turns by
what angle ?
(@) 26 (b) 30
() 48 d 8
(@us-a) o Al #1 gid aifeg [1x5=5]
(Section-B) Fill in the blanks :
() ' vpia s, a9 A Serde g
The natureof ___ s acidic, alkaline or neutral.
(i) I Wira uIg 50 F9 WG U 7 I9F G99 F e 9

T4 W fawan FEel ¥

The process of removing of a less reactive metal-by more

reactive metal from the salt solution is called

S-SA

P.T.O.
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(iii) % IO FHT T TR B0 R |
Dueto___ heat is transferred.
(tv) T 1 frdh Hae | Thue S ATeEn a9y s o Y w5
FEA R |
Light strikes on any surface and comes back in same medium is
called of light.
0) S ¥ e e 8 ¥
Spinal cord is responsible for action,
-1 (@ve-u) 3faw ey sifeu . [1x5=5]
(=+) (&)
() Wt - (@) SemEdt
(i) Auafsran fored som w1 3ewst - (p) BN
B ®
(éi7) =TERE & g WeE - (¢) JWEH
(v) T T T Huit T Fed - (d) e
(v) TwEq - (¢) AT T @
(Section-C) Match the following :
(A) B)
() All plants —  (a) Exothermic
(i) Reaction in which heat — () Methane
is emitted
| (1) Main constituent of biogas — (c) Producer
(iv) Never intersect each other — (d) In agasket
(v) Teflon —  (e) Two magnetic lines of force
S-5A
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151

Feor TH FHF 2 ¥ 6 9% AferETE v ¥ 19 W W
2 3% i T (YEAF SW oW Afuean wse-dw
30 =% §)
Instruction : Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of
each answer is 30 words)
UH-2 g o R 9 e e @ ot & m fafa [1+1=2]
Name any two acids found in food items.
Y-39-SO fRd wEd ¥ [2]
What is bio-catalyst?
WH-4  qE el o @ I9E fefan | [1+1=2]
Write two uses of wind energy.
U-5 hmamd? [2]
What is blood?
WH-6  ShawR fFd #ea § 2 - [2]
What is biomass?
s T AR 7 9 10 T Afer=mwE v ¥ TEe T ©
3 ok aEfed &1 (TRF TWOW afuman wee-dm
509 ¥)
Instruction Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
each answer is 50 words)
WA-7 A i Hewd fafire s % e Sitam § i swm fafey [1+1+1=3]
Write threc uses of maximum specific heat of water in daily life.
TSI-8 A9 & F13 a4 swEm fafaw) [1+1+1=3]
Write any three uses of lens.
W-9 g% % a4 YE T fafea [1+1+1=3]
Write three main properties of magnet.
S-5A P.T.O.
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W-10 T € ifa wgg A suftera wft i o weor 99H €9 ¥ | 39 9eEa &
#1¢ ot Hro fafae [1+1+1=3]

Characters of all the organisms present in a species are similar. Write

any three reasons of this similarity.

3T : T HHE 11 ¥ 14 TF AETE T | TEF T W
4 3% oEfd ¥ (VEF IW W sAfuwen w=-WW
75 M )

Instruction : Question Nos. 11 to 14 are short answer type questions.
Each question carries 4 marks. (Maximum word limit of

each answer is 75 words)
T9T-11  HIEaR F1 § ? 3T WIS TG IR 9T & I91E 9SaT § 2 [242=4]

What is menstruation? What effect it has on the female human body?

HerET

OR

YT GYeoT &t gim foreae gishan o1 Jurtie i fafa )

Define photosynthesis and write chemical equation of the process.

WA-12 WO a1 g Tev §9 € 2 SR S IR i | [2+2=4]
What are homologous and analogous characters? Explain with
example.
rgdar
OR
g ¥ fefn faufor =61 wfman =61 avi wifsT) [4]

Describe the process of sex determination in human.

S-5A
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[7]
Teh A 1 T Shish 12 B |
(&) a9 = 9g=E R AW fafEy |
() anyfter sTmad 9ot § 39 90 &t ugg gE fafan |
(%) Myfe sarerd WO | 39 9 1 31T fefam
(%) 39 7 1 goegien o= fafaw | [1+1+1+1=4]
Atomic number of an element is 12.
(a) ldentify and write name of the element.
(b) Write the group number of the element in inodern periodic table.
(c) Write the period of the element in modern periodic table.

(d) Write electronic configuration of this element. AR

srerar

OR

TN T I THN] A HHA: 5, 7, 9 €E 10 ¥ | ga%¢ -

(i) HH-UqE T 18 W

(i) HPA-W T T 15 F S |

(ifi) F-T T T 13 HW &)

(jv) HH-" e @ 17 F R

Atomic numbers of foﬁr elements are 5, 7, 9 and 10. Write— s
(1) which clement belongs to Group 18. R
(ff) which element belongs to Group 15.

(iif) which element belongs to Group 13.

(iv) which element belongs to Group 17.

S-SA
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uy-14 Wﬁ@m%?qﬁw%a@ﬁmﬂﬁmﬁm [2+2=4]

What are polymers? Explain the polymerization of ethene.

arear
OR

W@mﬁﬁmqﬂwﬁﬁamﬁﬁwl [2+1+1=4]
Write the chemical equation of the preparation method and any two

uses of bleaching powder.
Fravr : wquﬁwaéﬁﬂﬂw%tuﬁ‘cﬁwm
5 afw omefed ¥ (uﬁ‘cﬁwaﬁmw—xﬁm
100 T ¥)

Instruction Question Nos. 15 and 16 are long answer type questions.

Each question carries 5 marks. (Maximum word limit of

ecach answer is 100 words)

w-15 @n@ﬁﬁmaﬁmms@rﬁ.mmmm%ﬁw@m
amﬁmmmmql(ﬁmw%-wmmm %) (5]

A fish seems to be at the depth of 75 cm from the surface of 2 pond,
then find out its actual depth from the surface. (Given — refractive

index of water ‘—g-)

arerar
OR
T a1 ¥ 1.50 aqaéﬂiﬁaﬁ-m‘faﬁzﬁmm%lﬁaﬁm
aﬁwmﬁﬁﬁm(ﬁm%—ﬁahﬁmaﬁwywsﬁ./ﬂ.)

Light enters from air to glass plate having 1.50 refractive index.
What is the speed of light in glass? (Given — speed of light in

vacuum 3%10® m/sec)

S-5A
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e o’

| qE-16

[91
v faga S i fmenfafy =1 afes quia #if ) [3+2=5]

A2 : gfe aifya faemef faga ST & fag & @@ w399 AR sy
&7 FU7 F9 7 (B @

Describe working mechanism of AC electric generator with

labelled diagram.

Note : Visually impaired students describe the different parts of AC

electric generator in place of diagram and write working mechanism.

3rerar
OR

TIGAY 1 TR A HESH 1 € 2 A TR R w5 § e
gftort wfady w9 Fifer )

What is parallel combination of resistances? Calculate resultant |

resistance of parallel combination of three resistances.

T HHE 17 TE 18 STy T ¥ TEw T W
6 3w oEfed ¥l (TAF SW # oAfudan we-dm
150 Mg )

Instruction : Question Nos. 17 and 18 are long answer type questions.

U-17

Each question carries 6 marks. (Maximum word limit of

each answer is /50 words)

(37) S (rust) 1 & ? S T 1 qEEfE gHtw fafge) [1+2=3]
() <M 9 999 % FE o7 39 fefaw | [3]

S-5A

: P.T.O.
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(10!}

(a) What is rust? Write chemical equaticn of rusting.
(b)) Write any three measures to prevent rusting.
| Jregar

OR
Wﬁmaﬁﬁwﬁm&mﬁmﬁﬁﬂ%'mﬁﬁmﬁgaﬁ
¥ siia fafaw :
() e &1 = 9 TEEE THE
(F) I T ST
Write about the gas found most abundantly in the atmosphere under

the following ponts :

(@) Name of the gas and chemical equation

(b) Any three uses

(o7 e 35 o e et

(%) s & wfEa HCl % g d @ fafe
(@) Write any three functions. of blood.

(b) Write any three functions of HC! secreted in stomach.

3verar

OR

13]

13]

SSA
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(37 T vify Y v if wwa &, 602
(¥ wr ity & vl & 9 st wdldw v & w-u s fafag)

(@) Pituitary gland is called master giand, why?

(b) Write names of parts of human brain and one function of each part.

oooooooooo

S-5A 1,50,000
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6 WAl ® A : 18] [ F& qfEa g #t d@e : 11
Total No. of Questions : 18 ] [ Total No. of Printed Pages : 11

J-201200-B
faug ; faga=

Subject : Science

TG : 3 90e | [ qofe : 75

Time : 3 hours | [ Maximum Marks : 73

e : |t we T wifa)

Note : Attempt all questions.

__}J fdr : ¥ W% 1 a) S ¥ ¥ 3EE Eve (), 9 () W

TvE (1) WiFa € | 7o gvs § 5w § aw |y W 1 3w

arifed ¥ 1

g wifua faensdt wea % wre fRw 1 & 1 ot Trem 1)
Instruction : Question No. 1 is objective type question. It consists of

Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.

Visually impaired students follow the instructions as given
with the questions.

U1 (Eus-3) W faen g fafen C [1x5=5]

(Section-A) Choose and write the correct option :

() Jonwffedwme:

COR LK D! (%) T I
(9) SEa | (3) ¥ 4 T
The pyramid of energy is :
(a) always straight (b) always inverted
(c) inverted and straight (d) None of these
*  ssB P.T.O.
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[2]}
() o fagia smafad .
(2 ot qen & v el R sEE @
(%) Hfww fagia
(@) Avea & durifa fFram @
(?) o9 9 % 7

Darwin’s theory is based on :

(a) observations made during his journey
(b) cell theory

(¢) Mendel’s law of inheritance

(d) None of these

(i) WUl = TaARTE gA ¥

(87) CH,0H ‘ (#) C,H,OH

(¥ C,H,OH (%) CH,CHO

The chemical formula of methanol is :

(@) CH,0H () C,H,OH

(¢) C,H,OH ~ (d) CH,CHO
(iv) drefaem T # T w0 W AE o aeit g ¥ -

(3) TG

(%) aefter

(%) wgr

() Teeitam

Gas obtained by heating potassium permanganate is :

(@) nitrogen

(5) oxygen

(c) hydrogen

(@) hilium

https:/byjus.com
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V) aﬁ:aﬁwmﬂsﬁﬁ.ﬁqﬂmﬁﬁmﬁﬁwaﬁmﬂ
R

(37) 4 9. () 69
(§) 3 9. (3) 12 &=

If the object is at a distance of 3 cm from the plane MirTor, then

the distance of the image will be :

(@) 4cm (b) 6cm
(¢) 3cem (d 12cm
qor-1  (wvE-¥) fEm e S g B [1x5=5]
(Section-B) Fill in the blanks :
() SREFpH______ AFAD@EI
pH value of saliva is less than
i) Tagag Q@ QA F sfern a1g Ao UIg TE A F
fargmo S
Alloys are a mixture of two or more metals or
metals and non-metals.
(iti) TerenITor R e 3 TeRW ¥ F ATl & ¢ |
is not necessary on radiation for heat transmission.
(iv) G HY A B AR g
The unit of power of lens is
(v) N wifae R A gl offeen, feeiefw ao
At € |
Hormones secreted by are Auxin, Gibberellin and
Cytokinin.
S-SB P.T.O.
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WA-1  (WUI-W) Sfea gy Wifey [1x5=5]
(&%) (&)
() E™ Een fuet 9 ¥ - (a) THA &R
(i) feaam TEgeTe - B =
(7ii) St *1 SI AR - (¢) @™
@) FE-TEER R R T - (d) T H 5% o
=1 Yferare
(v) uReifyq fefe - (e) HEFA IR

(Section-C) Match the following :

(A) (B)
() Combined food chain forms - (a) weak base
(#) Calcium hydroxide ~ (b) joule
(i) The SI unit of energy — {(¢) food chain
(iv) Proposed electromagnetic ~ ~ (d) 5% water in ethanol
induction
(v) Rectified spirit — (e) Michael Faraday
Rder : T HHE 2 § 6 T AfveETia I ¥ vew W W
2 3% SEfed €1 (TOF S OH SIRAW wree-d
30 uIg &)
Instruction : Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of

each answer is 30 words)

UFT-2 Il AR AR % WIEfaE B ¥ -2 T fafew [2]

Name two natural sources of acid and base.

S-5B
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[5]
qoT-3 AR T P TISH T S R 7 [2]

Which enzyme is present in yeast?

q-4 SR H S € Al g & T & A fafe) [1+1=2]
* Write names of any two energies produced in ocean.
| -5 o foRd wed € 2 | [2]

What is osmosis?

-6  oTqueH e wed § 7 [2]

What is decomposer?

fdor : U HEE 7 ¥ 10 I AfEETd 79 § 1 ToE I |/
3 o omEfed §1 (Y SW OH Afuman wes-dm

50 g ®)

Instruction : Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

each answer is 50 words)

WH-7  Eodd 94U & wiE 9 suam fee | [1+1+1=3]

Write any three uses of plane mirror.

uya-8  fafyme e v w2 [3]

What is specific heat capacity?

wya-9  fagga uw w1 aRum ferge Sqent S A fafe | [1%+1%=3]

Define electric current and give its SI unit.

qEA-10  HIAH T, Wi 9o Td STgher i IRfe i) [1+1+1=3]

Define artificial selection, natural selection and adaptation.

S-5B

P.T.O.
|
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[6]

T HHE 11 ¥ 14 9F TET0T I £ ToE W W
4 % oEifed ¥ (Y@F IW H Afuchan wsI-Hm
75 U1 ®)

Instruction : Question Nos. 11 to 14 are short answer type questions.

uyi-11

w¥-12

g¥i-13

Each question carries 4 marks. (Maximum word limit of

each answer is 75 words)

GG T G 1807 1 € 2 S<ET0 YK T I | [2+2=4]
What are homologous and analogous characters? Explain with

example.

Hear
OR

A= | T fafo 5t afean &1 9ol Fifsw) [4]

Describe the process of sex determination in human.

agTH RS Fed ¥ 2 Tl & g S gHER [2+2=4]
What are polymers? Explain the polymerization of ethene.

aerar
OR

om0t 9 =it Tt S ud i € SaeEn fafag) [2+1+1=4]
Write the chemical equation of the preparation method and any two

uses of bleaching powder.

AEER a1 § ? 39! HIE1 FE YRR 9T 947 9919 IS & 2 [2+2=4]

What is menstruation? What effect it has on the female human body?

3rerar
OR

TRET-H¥A i1 IR ferast ufshan =1 vamafes g fafan

Define photosynthesis and write chemical equation of the process.

S-5B
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[7]

AF-14 T T 1 T FHAE 12 7

() @ H 9gar HL AW fafan)

() snyfrr sTEd ROl § $9 e F 9E we fareu|

(@) enyfe ad grRon # §9 a1 e fefea

(7) T8 @ % serRit faam fafea) [1+1+1+1=4]
Atomic number of an element 1s 12.

(@) Identify and write name of the element.

(b) Write the group number of the element in modern periodic table.

(c) Write the period of the element in modern periodic table.

(d) Write electronic configuration of this element.

arerar

OR

R T I ] S wA: 5, 7, 9 T 10 ¥ 1wy e
() @A-TaE T 18 F T

(i) HA-T T w15 H

(iif) HA-T T T 13 F1 ¥

(iv) FH-T @ T 17 FE)

Atomic numbers of four elements are 5, 7, 9 and 10. Write—
(/) which element belongs to Group 18.

(i7) which element belongs to Group 15.

(iii) which element belongs to Group 13.

(iv) which element belongs to Group 17.

S-5B
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Frdyr : ¥H wHF 15 T@ 16 TESAdd W El TEE W W
5 3 ommifed &) (vA® SW H Afyeam  wsg-dim

700 9I% ®)

Instruction : Question Nos. 15 and 16 are long answer type questions.

Each question carries 5 marks. (Maximum word limit of

each answer is 100 words)

WYA-15 9 &1 GH=R 9 G 341§ 2 99 gl o 9uen wE | et
gftomdt whadry Fa wifaw ) [5]

What is parallel combination of resistances? Calculate resultant

resistance of parallel combination of three resistances.

arerar
OR
werrard! ferea i = feranfafy w1 afes el =i [3+2=5]

T ; gfe anfim faemef faga w7 & a7 & @F | 39% &l srr
7 U7 F0 T Granarty faaEn

Describe working mechanism of AC electric generator with

labelled diagram.

Note : Visually impaired students describe the different parts of AC

electric generator in place of diagram and write working mechanism.

S-5B
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U-16

[9]
T 9 ¥ 1.50 AUad-iH a1 FE W H YAV Fa1 § | B F gH
FI 9 T Fifew ) (fear —fata &y # a 3x108 HA) [5]

Light enters from air to glass plate having 1.50 refractive index.
What is the speed of light in glass? (Given—speed of light in

vacuum 3x 108 m/sec)

srear

OR

T HSe! dIele i Tag ¥ 75 . TE0E W Wad gt €, 9 9ag @ IS
amﬁa:mémﬁﬁm(ﬁmw%—wmmaﬁm%)

A fish seems to be at the depth of 75 cm from the surface of a pond,
then find out its actual depth from the surface. (Given—refractive

index of water —g‘-)

Y HA® 17 T 18 TEHSWE WA ) TS T W
6 3w HEfed T (Y8F IW H Auwan w=s-drm
150 1= ¥)

Instruction : Question Nos. 17 and 18 are long answer type questions.

W-17

Each question carries 6 marks. (Maximum word limit of

each answer is /50 words)

(37) T vifer =t ATt Tify heq €, = 2 [3]
(%) #FE AP * 9rl % T faaa) T 9T % TH-Tk 5 fafan 3]

(a) Pituitary gland is called master gland, why?

(b) Write names of parts of human brain and one function of each part.

S-5B

P.T.O.
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T -18

[10]

a7

OR

(37) TR % iE 94 % fafau)
() eTmreg § wnfad HC1 % %1 i1 % fafag)
(@) Write any three functions of blood.

(b) Write any three functions of HCI secreted in stomach.

THYEH | Had e 7 H U W 9 7 & g | e faegeit
& ariq fafau .
(30 T\ w1 M T THEE gHiE [3]

(§) ®E @7 I [3]

Write about the gas found most abundantly in the atmosphere under

the following points :
(@) Name of the gas and chemical equation

(b) Any three uses

areran

OR

(37) S (rust) T ] ? S T F qEEFE GHEw fafan ) [1+2=3]

(&) 57T § 991 & BrE 94 SUE fafau [3]

S-5B
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(a) What is rust? Write chemical equation of rusting.

() Write any three measures to prevent rusting.

S-5B
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FOWRI S EON: 18] [FafRaySt M dww: 1
Total No. of Questions : 18 | [ Total No. of Printed Pages : 11
J-201200-C
fawa : fag=
Subject : Science
W : 3gue | , ‘ [ qui® : 78
Time : 3 hours | ’ [ Maximum Marks : 75
e : ait wy g wfag |
_ Note : Attempt all questions.
Advr : W B 1 RGeS ¥ ¥ i @ (3H), EE (W) ™
s (¥) Wi I TRs e d s W M W WA W 1 3%
Fiifea ¥
X Zfie wifua famd ve ¥ am gy g Al = wom =t
Instruction : Question No. 1 is objective type question. It consists of

Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.

Visually impaired students follow the instructions as given
with the questions.

-1 (Tve-a) el fawen g fafa [1x5=5}
(Section-A) Choose and write the correct option :
() Wfefmdaisimgeaadat:

(37) “irea v (9 drn
(m) §vdw (3) 3w
The main sources of energy in the ecosystem are :
(a) Fooditem (b) Solar energy
(¢) Green plants - {d) All of the above
S-5C P.T.O.
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(i) e T F amyfrrey e fRE whe F wermer S 2

(37) Wpfas T4
() *bm =g
(®) A ==
(%) +r w3

Modern breed of domestic dogs is the result of :
(@) natural selection

(b) artificial selection

{¢) juvenile selection

(d} work selection

(i) oI agEE ¥ :

()

(o7) formeer aeigs &1
(7) duefin =

(&) T =

() TERR-ufaef &
Teflon is a polymer of :
(a) Vinyl chloride

(b) Ethylene

| (c) | Acetylene

(d) Tetrafluoro-ethylene

frrfefea 4 & s ¥
(37 AlFdsA () &fm
(%) Wiferm (3) mifem

Among the following metalloid is :
{a) oxygen (6) helium

(c) magnesium 7 (d) arsenic .

S-5C
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)

‘B3]

¢ g @ T g9 o i ¥ o I < & S e
45° B, T 59 TR F T T wfafera w W g

(3D 5 (T 6

(| 7 (%) 8

An object is kept between two plane mirrors. If the angle
between the both mirrors is 45°, then number of images will be :
@ 5 (b) 6

() 7 d 8

(wug-v) T = & g Fife [1x5=5]
(Section-B) Fill in the blanks :

@

(i)

(it

()

v)

i oTad Wl § e _amEd ¥
In modern periodic table total periods are present.

ifires wipa STg R W Ah6T T 1IN T ¥ faee | 5
Y wfeFan FEeTd ¥ |

The process of removing of a less reactive metal by more

reactive metal from the salt solution is called

e F R T FH HW FAA CRCECE ]

Heat transmission by conduction is possible only in

TepTel FoRT0T TR S0 W S SR B €, SHE T
1T I TH T

Light ray falls normally on the plane mirror, then its angle of

reflection will be

S it 0 o f faferee e o s | g, 3R
Animal hormones are prepared in special ductless glands, they

are known as

S-5C

P.T.' 0-
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-1 (WuE-v) 399 gy Sifse [1x5=5]
(%) (&)
() i St w1 g T - (a) 9 &
(i) T - (b)) T
(fii) 3R F S+ Fw - (¢) W
(v) fedi g AR e - (d) TEEE g
foan e &
() IS WHEE = - (e) THRT T Y@
(Section-C) Match the following :
(A) (B)
({) Basic sources of entire — (a) Lewis alkali
energy
() Ammonia — (b) Combustion
(#i7) Process of burning of fuels -~ (¢) Sun
(iv) Magnetic field is represented — (d) Acetic acid
(v) Pure ethenoic acid - (e) Magnetic lines of force

féer T HHE 2 ¥ 6 T AfTEEET T § TEE T W
2 ¥F IEfed &1 (YAF SW H SAfumran wee-d
30 T &)

Instruction Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of
each answer is 30 words)

w-2  dRfrEw Fee F Sl faeran @t wety @ anft 2 e [2]

What will be the nature of aqueous solution of potassium chloride?
Explain.
SSC
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[5]
-3 U uehira 1 g3 fafau) : 121
Write the formula of ethyl alcohol.
U9-4  HIeR FH H HIE <1 399 fafam) [1+1=2]
I Write any two uses of solar cooker.
| w-5 T iRl #ea §2 [2]
What is diffusion?
w6 umfeufae faae fed wen €2 [2]
What is ecology?
frdor T FHE 7 ¥ 10 TF Segewid 11 §1 TeE 1 W
3 3% oEfed &1 (YAF IW H Afuwan w=-dmw
50 9% ®)
Instruction : Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
each answer is 50 words)
qg-7 @ o0 Rl #Ed § 2 [3]
What is latent heat?
Y9-8 I9qc U 1 H18 diF s9an fafan | - [1x3=3]
Write any three uses of concave mirror.
WH-9 TSI o9 W@ % ®is dib 7o fafag | [1+1+1=3]
Write any three properties of magnetic lines of forces.
Wg-10 Tt wE Sy gr wfaafea el o1 faes fagia @ smaent wm var se
22 3]
What do you mean by the theory of evolution predicted by Darwin
and Wallace?
S-5C P.T.O%
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[67:
T H% 11 § 14 75 TEETE 791 ¥ 7@ T R
4 3iF Efed &1 (UAw IW H Auaw  w==-d

75 9% §)
.

Instruction : - Question Nos. 11 to 14 are short answer type questions.

" -1

W¥-12

Each question carries 4 marks. (Maximum word limit of -

each answer is 75 words)

g A HEd & ? TR F IgeAh Rl T FHeE | [2+2=4]

What are polymers? Explain the polymerization of ethene.

arerEr
- OR

fotsr <ol M Y Tt wviten wa g <) 9 fafau [2+1+1=4]
Write the chemical equation of the preparation method and any two

uses of bleaching powder.

Teh Ted 1 TTHIY] A 12 B |
(&) T F TwEH F AW fafgn ) W
() yfTh e WRON | 39 a1 Wyg Fe fafa |
() My Tad 9roil o 39 a9 1 o1 fafga
(3) 397 F el g fafaa) [1+1+1+1=4]
Atomic number of an element is 12.
(a) Identify and write name of the element.
(b) Write the group number of the element in modern periodic
~ table. ‘ o
(é) .’Wn'te the beriod of the element 1n modern periodic
table.

(d) Write electronic configuration of this element.
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M
OR

§oTTe
HE
g

R A FY ] G HE: S, 7, 9 T 10 ) ﬁa@ﬁ—
0] J.ﬁ~ﬁaaaﬁ1s FRI |

(i) aﬁ?—maé &1t 15 ?ﬂ% |-

(iif) FF-91 7 T 13 FE |

(iv) FF-T @ T 17 FE

Atomic numbers of four elements are 5,7, 9 and 10. Write—
(/) which element belongs to Group 18.

(if) which element belongs to Group 15.

(i) which element belongs to Group 13.

(iv) which element belongs to Group 17.

uy¥I-13 T e G @ M ¥ ? IR AH T HifA | [2+2=4]
What are homologous and analogous characters? Explain with
example.
arerar
OR
Wﬁﬁnﬁaﬁwnﬁ-maﬂaﬂhaﬁm| I [4]
Describe the process of sex determination in human. N
vI-14 AT F & 2 S A HE O R A AE T ? T [2+2=4]
What is menstruationi? What effect it has on the female human body?
S-5C P.T.O:%
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7T ¥
OR

m—@éwﬁqﬁw%wwﬁmmmmﬁml

Define photosynthesis and write chemical equation of the procesé.

Fer : W HAE 15 TH 16 el TH ¥ TR YW W
5 3% ardfed &) (mwﬁ#ww—m
700 I ¥)

Instruction : Question Nos. 15 and 16 are long answer type questions.
Each question carries 5 marks. (Maximum word limit of

each answer is /00 words)

W-15 e fawga it w1 ety st wfas auiv it [3+2=5)

W : ghe Ff frenelf fga w7 & g & @ W 399 R s
& F97 FI T frafafy g A

Describe working mechanism of AC electric generator with

labelled diagram.

In
Note : Visually impaired students describe the different parts of AC

electric generator in place of diagram and write working mechanism.

areaT
OR

Y =7 FHFR 9 Ww%??ﬁwﬁfnﬁaﬁmmﬁﬁm
IRom wfadia F@ Fifew

What is parallel combination of resistances? Calculate resultant

resistance of parallel combination of three resistances.

S-5C S-5
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UPA-16 UH NS Od 1 9ag ¥ 75 . ME0E 9T wedtd gt ¥, 3 wag | sue
qrafas TEUE FA Hitae | (e T T— 1 srvEdin %) [5]

A fish seems to be at the depth of 75 ¢m from the surface of a pond,
then find out its actual depth from the surface. (Given-refractive

* index of water %)
rear

OR

RIS A1 ¥ 1.50 UEdAIF AR HiE = H AW w1 ¥ 1w F www
=t 9 7 w1 (e §—TFraf F wem &t 9@t 3x108 W.A)
Light enters from air to glass plate having 1.50 refractive index.

What is the speed of light in glass? (Given — speed of light in

vacuum 3x10% m/sec)

for : U HHI% 17 TE 18 TR W ¥ TEw W W
6 3% oEfen ¥ (VAF IW F AfwaH w-HiW
150 W ¥)

Instruction : Question Nos. 17 and 18 are long answer type questions.

Each question carries 6 marks. (Maximum word limit of

each answer is /50 words)

UH-17  (37) TR & FE 9 w1 fafag) [3]
(7) ommNME ¥ wifad HCl % #iE o % fafam) | [3]

(a) Write any three functions of blood.

() Write any three functions of HCI secreted in stomach.

S-5C P.T.O.
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UF-18

4e]

OR

(o7) oo Tifer 1 e s w2 "
(F) "Ma qfass F 9 % W e TEE 9 ¥ -TF w7

fafEw)

(@) Pituitary gland is called master gland, why?

(b) Write names of parts of human brain and one function of

each part. .

(37) ST (rust) T & 2 1 WA I TOEtE wHeR fafag ke [142=3]
(F) S A w91 F HE s e : 3]
(d) What is rust? Write chemical equation of rusting.

(b) Write any three measures to prevent rusting.

srerar

OR
SgAvee H Te st A H o 9 A 19 g | fre faged
¥ st fafe -
(37) 9 &AW 9 qEEtE g [3]

(F) g I ITT O , [3]

B-5C
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l
l
Write about the gas found most abundantly in the atmosphere under '
the following points :

(a) Name of the gas and chemical equation

‘ () Any three uses

+2=3]

|
f 1
[3] |

[3]

[3]

S-5C 1,50,000
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